Question Scheme Marks AOs

7(a) 1
(4—x)=2(1—li2 M1 2.1

{1—%}2 =1+1[—1x]+w[—lx]2+... ML LI
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\/(4—X)=2(1—1x—ix2+.} Al 1.1b
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1 1, 1
(4-x)=2=—x=—x"+.. and k=—— Al 1.1b
4 o4 64
4
(b) The expansion is valid for|x| <4, so x=1 can be used Bl 2.4
(0))
(5 marks)
Notes:
(@
1
M1: Takes out a factor of 4 and writes (4—x) = 2(1 + )5
M1: For an attempt at the binomial expansion with 7 = —
2
i
l — -——
Eg. (1+ax)2 =l+l(ax)+u(ax)2+...
2 2!
1
Al:  Correct expression inside the bracket 1——x—— x>+ which may be left unsimplified
8 128
Al: J(4—x))=2—lx—ix2+ and k=—i
4 64 64
(b)

B1:  The expansion is valid for |X| <4,50 x=1 can be used




